N8R EE T SEE T AR (7))
B LB A PR £ BT S B 5 —

JA i BT BRAT
I. 585 (5 7 AR B BLANE)
) SR (C) [ 7K & (mm) H MR EF ] (h)

A | AR 7 AR | AR = AR | AR =
Ef | 270 | 253 | +17| 378 | 484 | —10.6| 72.1 [ 541 | +18.0
if) | 27.0 | 266 | +0.4| 44.0 | 587 [ -14.7| 145 | 57.6 | —43.1

™ AJ - 27.8 - - 41.7 - - 83.9 -
AR AIOEIXT/11-T/140F —Z TEHE L TOET(7/15-7/200F —ZZ A>TOERA),
II. FELDELEL

BT, AR T, BT SSIEET, ARSI, WEREIT, )1, P iR 7/11-14
3 R R R 5 K

AR AR

I 4 . PR SRy ek FRASTE B & OV E DR
AT ) 8 11 1 0 0 20 60.0 6.3 F % E 53
(R ) 3 10 1 0 0 14 78.6 21.4 6.9
( M| & ) 3 1 0 0 0 4 25.0 6.3 2.0
(de v ) 2 0 0 0 0 2 0.0 0.0 0.0
L i ¥ 10 10 0 0 0 20 50.0 125 % % E 35
(& m ) 7 7 0 0 0 14 50.0 12.5 3.4
) o) 2 2 0 0 0 4 50.0 12.5 4.3
(de v =) 1 1 0 0 0 2 50.0 12.5 3.0
X "W 20 0 0 0 0 20 0.0 0.0 Z W Bk = %: 0.0
LI I 20 0 0 0 0 20 0.0 0.0 % w E 0.0
EANE T T 7 13 0 0 0 20 65.0 163 ® o/ #%k (8 ) 01
(R ) 5 9 0 0 0 14 64.3 16.1 0.1
) o) 2 2 0 0 0 4 50.0 12.5 0.0
(dt v #) 0 2 0 0 0 2 100.0 25.0 0.1
= A A AH 20 0 0 0 0 20 0.0 0.0 # F K E : 0.0
vty oy 4 16 0 0 0 20 80.0 200 A%/ kR (8H ) 07
(& w F) 2 12 0 0 0 14 85.7 21.4 0.9
(™ o) 1 3 0 0 0 4 75.0 18.8 0.2
(46w ) 1 1 0 0 0 2 50.0 12.5 0.1
[ =/ A 20 0 0 0 0 20 0.0 0.0 H #/ Bk (8 ) 00
Y= ugandg 9 11 0 0 0 20 55.0 13.8 H # o/ #k (8 ) 02
(3 m ) 5 9 0 0 0 14 64.3 16.1 0.2
) o) 3 1 0 0 0 4 25.0 6.3 0.0
(de v =) 1 1 0 0 0 2 50.0 12.5 0.0
ﬁfﬁﬂi@%}ggﬁs 6 7 4 2 1 20 70.0 31,3 B % /207 Y (8H): 7.2
(R ) 4 3 4 2 114 1.4 37.5 9.6
) o) 2 2 0 0 0 4 50.0 12.5 1.0
(de v =) 0 2 0 0 2 100.0 25.0 2.0



TEFEav g 13 7 0 0 0 20 35.0 8.8 HhHE/HRER): 0.0
(8B ) 6 0 0 0 14 42.9 10.7 0.1
) ) 1 0 0 0 4 25.0 6.3 0.0
(dt v #) 2 0 0 0 0 2 0.0 0.0 0.0
a7 JAAH 11 3 6 0 0 20 45.0 18.8  HEEARFE®): 7.4
(HHE®BR) 8 2 4 0 0 14 42.9 17.9 6.6
) o) 1 1 2 0 0 4 75.0 31.3 14.0
(dt v &) 2 0 0 0 0 2 0.0 0.0 0.0
oAb FE M N 20 0 0 0 0 20 0.0 0.0 FEJRFEL: 0.0
I OFE E MR 20 0 0 0 0 20 0.0 0.0 FEE: 0.0
S I 20 0 0 0 0 20 0.0 0.0  FWLE: 0.0
% #a ] 20 0 0 0 0 20 0.0 0.0  FEIFAEZE): 0.0
{FE/y Y 17 3 0 0 0 20 15.0 3.8 WM/ 25KK(E): 0.2
VWA 20 0 0 0 0 20 0.0 0.0 HH/258k3EH): 0.0

FEBIRE - REETOIPINT AREIET), /I e T (H BPIT | SZJTHT BRI
Be e 7 (FARKT | SLREAKMT, 18 T, S AT HTEFHT, FRIEAT, AR HT)
FEOER o SEIRAT, ARUSET IERSNT
db v ER o R ) T BT g T

AR
BT, AMARST, PR, SEUENT, ARUERT YERRNT, &8 11T, g T, SR T 7/11-13
A RR N W .
i 4 EREEMARA e EEE R RORAON
w4 H % H A

E N b b 14 13 2 1 0 30 53.3 6.7 ¥ w0 E 57
( | & ) 2 0 0 0 2 100.0 25.0 7.5
(M) 1 0 0 0 1 100.0 25.0 2.0
(46 F ) 4 10 1 1 0 16 75.0 23.4 7.9
( m # ) 10 0 1 0 0 11 9.1 4.5 2.5
L i ¥ 27 3 0 0 0 30 10.0 25 O Ok L ) 1.6
( ® & ) 1 1 0 0 0 2 50.0 12.5 12.0
C i M &) 0 1 0 0 0 1 100.0 25.0 12.0
( Jd& d &) 15 1 0 0 0 16 6.3 1.6 0.8
( @ & ) 11 0 0 0 0 11 0.0 0.0 0.0
=/ 1 30 0 0 0 0 30 0.0 0.0 Z % Bk = %: 0.0
b S 30 0 0 0 0 30 0.0 0.0 F W E 00
EANE T D 16 14 0 0 0 30 46.7 1.7 B Ho/ 8% (8§ ) 0.1
( | & ) 1 1 0 0 0 2 50.0 12.5 0.0
(W M ) 1 0 0 0 0 1 0.0 0.0 0.0
(46 &) 6 10 0 0 0 16 62.5 15.6 0.1
( m # ) 8 0 0 0 11 27.3 6.8 0.0
= Hh A A H 30 0 0 0 30 0.0 0.0 # = #H = : 0.0
vty oy 5 25 0 0 0 30 83.3 208 M %/ Bk (3H ) 05
( | & ) 0 2 0 0 0 2 100.0 25.0 0.3
(M) 0 1 0 0 0 1 100.0 25.0 0.2
(46 F # ) 2 14 0 0 0 16 87.5 21.9 0.9
( m # ) 3 0 0 0 11 72.7 18.2 0.1
[ =N/ 30 0 0 0 30 0.0 0.0 H H/ kk (8 ) 0.0



Y= ugandg 18 12 0 0 0 30 40.0 10.0 H= #H / #% (8 ) 0.1
( J’ B ) 1 1 0 0 0 2 50.0 12.5 0.0
(M =) 0 1 0 0 0 1 100.0 25.0 0.1
( Jd& d &) 8 8 0 0 0 16 50.0 12.5 0.1
( ® & ) 9 2 0 0 0 11 18.2 4.5 0.0
%&ﬁgi%gg% 7 9 9 5 0 30 76.7 35.0 Ak /207 ) (HH): 5.9
( | & ) 0 0 1 1 0 2 100.0 62.5 10.0
(M) 0 1 0 0 0 1 100.0 25.0 1.0
(46 F ) 4 5 5 2 0 16 75.0 32.8 4.9
( m # ) 3 3 3 2 0 11 72.7 34.1 7.0
TEFE YA 29 1 0 0 0 30 3.3 0.8 %hHmH/#%(EH): 0.0
( W & ) 2 0 0 0 0 2 0.0 0.0 0.0
(W M =) 1 0 0 0 0 1 0.0 0.0 0.0
( Jd& d &) 15 1 0 0 0 16 6.3 1.6 0.0
( m & ) 11 0 0 0 0 11 0.0 0.0 0.0
a7 )AL 27 3 0 0 0 30 10.0 25  F OB E ®: 0.0
( | & ) 0 2 0 0 0 2 100.0 25.0 0.2
(W M ) 1 0 0 0 0 1 0.0 0.0 0.0
(46 F ) 15 1 0 0 0 16 6.3 1.6 0.0
( m # ) 11 0 0 0 0 11 0.0 0.0 0.0
b #E MW 30 0 0 0 0 30 0.0 0.0 % B 0.0
T F E MO 30 0 0 0 0 30 0.0 0.0 % W 0.0
S I 30 0 0 0 0 30 0.0 0.0 F W E 00
% e ] 30 0 0 0 0 30 0.0 0.0 Z % Bk = %: 0.0
{FEVY EE) 28 2 0 0 0 30 6.7 L7 %L B /25 Bk () 0.3
{270 hrhy 30 0 0 0 0 30 0.0 0.0 H %k /25 & (BH): 0.0
AR VR Fay 30 0 0 0 0 30 0.0 0.0 # & %K = ®: 0.0

HOES o ParEE (R ORERIT HnsmT)

TR 2 BRI FRAAT PN

b A o ST RRRIT AR EPERGEE AT, MM, AR, FALE i (FFEPAT, L RmT ),

FEITH RS ET . ILJRT), 4 PG RRA H-RT
7 EETHRT, LB, Z4fH —BFRT, LU

T P R SRR 7/

JE TR N S K

i 8 A e A PMUTE ROREOIH
® b EE EZE

=M % E R 0 16 0 0 0 16 100.0 4.0 #H F 0 E ;115

A4 F X RN H 14 1 0 0 1 16 12.5 100 # F ¥ R (: 3.9

VA NN | 4 12 0 0 0 16 75.0 4.0 F A& B E ) 95

NOF = H 15 1 0 0 0 16 6.3 4.0 F A& FE F %): 0.1




(R ]

NI

RS BRIET AR AR 7/11

F& A R BE R I By K

jtastil

e

i E R4 = o FAIE B R OSAEOR %
B LR
" > i 4 - R %) EEFER
AN 8 0 0 0 0 8 0.0 0.0 REORBKEE: 00
VA ANV 5 2 1 0 0 8 37.5 125 F £ #H M E . L7
IH AL = 1 4 2 1 0 8 87.5 344 FE O H L R 228
SHUANETIH 1 1 6 0 0 8 87.5 40.6 A R 14.1
I~ X THIFY 7 1 0 0 0 8 12.5 RIS S SRt 0.3
AH T
FEE T, AL AT, PR PR, ST ET R A 7/11
A RR N A B 2K .
i 8 A o man  TMUIEE RORAEOIH
A -
A S N 0 4 4 0 0 8 100.0 375 RIEOFRIFEE: 10.7
VA ANV 4 1 2 1 0 8 50.0 25.0 F A& B M L . 3.6
SHh N E = 1 6 1 0 0 8 87.5 25,0 HE DO HE R 125
SHUANETIH 1 5 2 0 0 8 87.5 28.1 H A4 #E xR 6.6
I~ X THIFY 6 1 1 0 0 8 25.0 9.4 fk H X P 0.6
v
R PA T AT R 7/11
A RR B N E B 2K o
% 4, e A TMUIE LRI
I 2 -
= 2 95 6 2 0 0 0 8 25.0 6.3 F& O E E %: 04
2 2 ] 6 2 0 0 0 8 25.0 6.3 R W R FE %: 03
H BE i 8 0 0 0 0 8 0.0 0.0 ¥ % #E E %: 0.0
=2 BiE ] 8 0 0 0 0 8 0.0 0.0 % Hm X F ®%: 00
A AN TR 8 0 0 0 0 8 0.0 00 # & R £ %: 00
NOF = 8 0 0 0 0 8 0.0 0.0 % A& HE F %: 0.0
N X A YE 8 0 0 0 0 8 0.0 00 # & R £ %: 00
58 A Z K 8 0 0 0 0 8 0.0 0.0 FEDORPFEE: 00
MR T, BRI ERAS: 7/11
F A FR BE BI85 4K n
= = 0 i‘j% fgg; B L O D
I -
B A LA R 0 0 2 0 0 2 100.0 50.0 & EFE (%) : 16.0
B A FL K e 0 1 0 0 0 1 100.0 25.0 & W O OE % 2.0
TYEAVY I by 1 0 0 1 0 2 50.0 315 F BL o W) ¢ 11T
FYEAVYIA LY 1 0 0 0 0 1 0.0 0.0 f & & & % : 00
NOF = B 1 1 0 0 0 2 50.0 125 % & FE FE W : 15
2 2 ] 1 0 0 0 0 1 0.0 0.0 % Hm X F ®%: 00




(B 3]

BTy v, SR TH, =4, AL URTHHZA: 7/11-13

o
HE
i
Nt
=
=
N
s

B n
W b 4 S lE memE ROREORE
woA % A
58 AR 8 1 0 0 0 9 11.1 28 ¥ W K 13
VAR ANV | 9 0 0 0 0 9 0.0 0.0 1EYSEvoHEARKE): 0.0
NAELARY g8 10 0 0 9 1.1 2.8 L RYORER ey
NOF = M 8 1 0 0 0 9 11.1 28 T OAE K F W - 19
IFIFAuTH Iy 6 2 0 1 0 9 33.3 139 a &£ E £ % : 4.2
F A BN 6 3 0 0 0 9 33.3 8.3  100¥EL0OINEHE): 0.4
F A BN a g 9 0 0 0 0 9 0.0 0.0 # F #£ % : 0.0
#H Ui ¥7 9 0 0 0 0 9 0.0 0.0 % W % F W : 0.0
e A N 9 0 0 0 0 9 0.0 0.0 ¥ ¥/ £ £ % : 0.0
=yag¥EyFUl 8 1 0 0 0 9 1.1 I VL

ST MAR T BRI AR A, B HFEE: 7/13

5RO R 5 K . .
5 4 4 T REE memEsromkoR
F I -
98 A TR 13 1 0 0 0 14 7.1 1.8 % W FE E (): 0.1
I JH. ] 14 0 0 0 0 14 0.0 0.0 ¥ W # F ®: 0.0
B B 955 14 0 0 0 0 14 0.0 0.0 % F K = %): 0.0

D) BAEBREREHILLTORLRDTND,
(X1 4+ FX2+ %6X3 + Hx4)
REEfE S = 100
FEATRE R E A <4 X




EFi7=nE T |

a7 -~
% - —e—FE 206
0 b —B—Fi4E 20155
F oot FE
% EAS
28 1A
10 paN
}"\-....-J .
5
q M
449 £3 4,5 5,71 &8 &8 5.7 5.3 66 71 732
B/34q
Bl oAy 2O~ 5 7ERMELE
# 18337, | A BT D1 0th o SE S
200
160 ——F=iT 2015
160 —B— i 2013
A
s 12
£ 100
& o
< 60
a0 _
20 P )-\,/"-i
(= = =
S &% 4/5 B/1 E/3 35 671 B/3 0 5/5 0 1A 13
B/%9
2 SERBAALUEE(FYINRTFHALL IV TFTFHHA
L Y XAALL Z2OF ST EER (T HET)
50
g —8—=F 2016
40 —m— 4 2015
% -
= s "
%jl 20 /
e 25
h3s y
75 20 d
5
10 [
° ,—O-ft’w
0
41 43 4% B/ B2 BE &A1 ES 68 T T3
o A/4w
3 AAZNANAATAELV IS YTEERERE
«fET, =3 EALLAEL B HETO A TH
200
180 | T
190 —— T F P05
§§120 +
7&100 L
£
?E 80
~— 60 L
40
oot
0 : :
5.1 5.3 55 &1 6.3 676 7.1 7.8
B.®H8

Bla N 2AFEIFD DxO0F S 7ER MR (BXES)
¥ BT DAL LES, SIS EA L, = O 10 s T



T
r == 20154
—— A 2016 5

571 5,3 5.8 5.1 6,3 6,5 7.1 7.3
A4
Bls 2O0FE23bD Z2z0F S5 FERHEES(FERS)
® FE e th, DFHE g, T8 th, 314 LU BT, = 37 th 10tk s Tty




